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#2 1.0x1.0 STA. 0+000~0+033.2 33.2m 4.1%
USIT #3 1.5x1.56 |[STA. 0+037.7~0+126.1 88.4m 4.1~19.0%
#4, #5 2.0x2.0 |STA. 0+132.1~0+252.3 114.2m 1.3~8.2%
#6~#10 25x25 STA. 0+000~0+461.5 431.5m 0.5~28.3%
#11~#14| 3.0x3.0 STA. 0+000~0+461.5 431.5m 0.5~28.3%
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J— &A1 STA. 7+870~7+928 64.0m 18.3% M
== &A1 STA. 7+950~7+987 50.0m 63.5% M2
&A1 STA. 8+030~8+055 32.0m 83.8% Me
&A1 STA. 7+790~7+870 77.0m 2.0~19.3% e
&A1 STA. 7+816~7+830 16.0m 18.5% oot
&A|-2 STA. 8+055~8+409 3720m | 0.8~19.7% Mg
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8+055~8+140 A2 | 0.0330 0.803 A2 | 0.95% 0.803
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Mx e
-2 ALE 119 AlO
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A F+T 8E
b AY F=T AHEA
Qd = 0218 X CxX T x A (A<4.0km®: &2|A)
oM, -C = SEAx — OIS X2 0.7 HE
‘A = 89
T = BSBE — HEUWTF(2001H)0A HAISH I IDF FME& AMS 01
FHXHY TLPTHE MY
F2E 1.5m 0|0t P2t MHLYRIE 104 G,
FTEXE 1.5m Oy 7 A2yl 254 HE

. L 3
( )
(KIS Te = 0.95 x [—W0—19% (L = ggHE, H = TXXY
L. Qo= Arg
~ BY #] Hj$Q%E HX
1) UB7HH
# X fapN | AN
TTRETERS oy A

7+620 | 7+704 0.131 A=A1=0.131km*

7+704 | 7+832 0.215 A=A1+A2=0.215km*

7+832 | 7+881 0.578 A=A1+A2+A3=0.578km*

7+888 | 7+981 0.604 A=A1+A2+A3+A4=0.604km*

7+989 | 8+080 0.742 A=AT+A2+A3+A4+A5=0.753km?

8+087 | 8+180 0.753 A=A1+A2+A3+A4+A5+A6=0.753km?

8+187 | 8+282 0.922 A=A1+A2+A3+A4+A5+A6+A7=0.922km?

8+289 | 8+330 0.943 | A=A1+A2+A3+A4+A5+A6+A7 +A8=0.943km?

8+397 | 8+440 1.029 A=A1+A2+A3+A4+AS5+AG+AT +AB+A9+A10=1.029km*
8+440 | 8+500 1.029 A=AT+A2+A3+A4+A5+A6+AT7+AB+A9+A10=1.029km>
8+510 | 8+560 1.029 A=AT+A2+A3+A4+A5+A6+AT+AB+AF+A10=1.029km?

2) =EBOX
o x "9"2'45& O OCHTHXE Al
74825 0.363 | A=A3=0.363km?
8+346 0.943 | A=A1+A2+A3+A4+A5+A6+AT +A8=0.943km?
JI=E $=E2BOX 1.029 | A=AT+A2+A3+A4+AS5+A6+A7+AB+AP+AT0=1.029km?
3) AOpRER
Qo x| oo -
2 SoBIR Atz
AE | FH {(km?)

74870 | 7+928 | 0.0022 | A=Ab1=0.0022km?
EEATE 4 | 0.0021 | A=Ab2=0.0021km?
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4) VBS

Ct.

A x| Sqmx
- QDIE AtzE
A |58 (km?)
7+790 | 7+870 | 0.0362 | A=Abl+Av1=0.0362km*
7+816 | 7+830 | 0.0046 | A=Av2=0.0046km*
8+055 | 8+140 | 0.0330 | A=Av3=0.0330km?
8+140 | 8+320 | 0.0607 | A=Av3+Av4=0.0607km’
8+320 | 8+409 | 0.0748 | A=Av3+Av4+Av5=0.0748km?
8+330 | 8+440 | 0.0223 | A=Av6=0.0223km?
8+010 0.1286 | A=Av7=0.1286km?
8+195 0.1051 | A=Av8=0.105Tkm?
8+260 0.0501 | A=Av9=0.0501km?*
LT M8
— ZOZTH(TM)OAM QAT 105 X X|EHAIZH 102 I BLTE '=125mm/hr e
- BOPTH(FMOIM QAT 2551 X XISAIZ 102 I BSFE 7'=149mm/hr X8
2hr 3hr  4hr 6hr Ohr  12hr 15hr18hr 24hr
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— i
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125/ 4 |
-~ 100 == =
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2. =3 E WA EE
L. STA.7+704~7+832 UB*(1.2%1.0)
B YT LY
Qd = 0.278 x 0.7 x 125 X 0.215 = 5.225 m®/sec

B Manning 320 2|8t S A%

Q= 08X AV =208 x —}5 X A X R x S (4d/sec)

= 0.8 x T%E X 1.200 X 0.3750 %% x 0.0403Y2 = 6.681 m®/sec

- TFEEF A = 1.20 X 1.00 = 1.200 m?
- & B p=2x1.00 + 1.20 = 3.20 m

-3 84 Rr=-4 = LA _ g5

- EEAS n = 0.015
TEBAL S = 4.03% = 0.0403

- Qd = 5.225 msec < Qi = 6.681 m/sec OJ2E UBHH(1.2x1.0) 2 =5

L. STA.8.397~8.440 UBMH(2.5%2.5)
B AHF=Z &Y
Qd = 0.278 x 0.7 X 149 x 1.029 = 29.842 m®/sec
M Manning TAI0 9|8t S i)

Q= 08x AV = 0.8 x le X A X R™ x S¥2  (43/sec)

= 0.8 x 0—(1)1~5~ X 6.250 x 0.8333%% x 0.0110 % = 30.959 m®/sec

- TFEEHA = 2,50 x 2,50 = 6.250 m®
- & B P = 2x250 + 2.50 = 7.50 m

-3 8 R=4 = 830 _ gy

EBAL S = 1.10% = 0.0110

- Qd = 29.842 m¥sec < Qi = 30.959 m*/sec 0|22 UBHH(2.5x2.5) NX| =F
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C}. STA.8+346 FEBOX(2.5X%2.5)
B HHEFT LB
Qd = 0.218 x 0.7 x 149 x 0.943 = 27.354 m*/sec:

B Manning 340 2Bt BT &8

Qi= 08x AV =10.8 X —}; x A x R x S (m]sec)

0.015

— 0.8 X —L— x 6.250 x 0.8333%° x 0.0086 Y2 = 27.374 m®/sec

- F=Z2PBA S = 0.86% = 0.0086

oY, +~ZEBFA} §=2.9%0|%°CF MAZF+F X2 II5EL

2}. STA. 7+790~7+870 72t VBE7(B2i-1)
B AHFFT &8
Qd = 0.278 x 0.7 x 125 x 0.0362 = 0.881 m® [ sec

‘B Manning 30 2%t B+ &8

Qi=08%xAV=08x = xAxR®xS" (msec)

]
0.8 X 5015

. Qd = 27.354 m¥sec < Qi = 27.374 m¥sec 0|2 = BOX(2.5x2.5) &X] H¥

x 0.2858 x 0.19852% x 0.029Y% = 0.883 m?/sec
- o g = LILE050 g5 — 0.2858 m?

-8 B p—2x0.45x V0.302 + 1.002 + 0.50 = 1.439%6 m

- XA % = 0.015
* 2.90% = 0.029

HU
oy
=
)
It

- Qd = 0.881 m’sec < Qi = 0.883 m’/sec OI|2E +Z2FAl §5=2.9%0|82 =

2AFTT X8 It5S.
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Ot. STA. 8+055~8+140 P2t VE=ZJ(BAI-2)
N AEHTT &8
Qd = 0.2718 x 0.7 x 125 X 0.0330 = 0.803 m>/sec
B Manning 3210 2|8t ST AH%

Qi=08x AV = 0.8 x -11; X A X R™ x S (4d/sec)

= 0.8 x WI)TET X 0.408 X 0.2328 %% x 0.0096 12 = 0.807 m®/sec

— ST 4 — Miz**‘)—@ x 0.600 = 0.408 m’

- & ¥ p=2x060x V0302 + 1.002 + 0.50 = 1.7528 m
_ ot Al _ A _ 0.408
8 8 R= 5 = Jvor = 0.238

- EXA= » = 0.015
FEBAL S = 0.96% = 0.0096

> Qd = 0.803 m¥sec < Qi = 0.807 m’sec 0|22 2 FAl §=0.96%0]|4' 0=
AT X2 Tt

Hi. STA. 8+320~8+409 72} VEE](HAI-2)
B AT T A
Qd = 0.278 x 0.7 x 125 X 0.0748 = 1.820 m®/sec

B Manning F2{0]| 2|8t S ALY

Q= 08xAV=0.8x X A x R™ x S (43/sec)

s b

= 0.8 x 0—515- X 0.408 X 0.2328%% x 0.049% = 1.893 m?/sec

- $E2BAL S = 4.90% = 0.049

.. Qd = 1.820 m¥sec < Qi = 1.823 m’/sec O|2E $£ZFA} §=4.90%0]5'C =
2HAZ T X2 ItsEt
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AL STA. 8+330~8+440 T2t VEZT(FA-1)
- W A"HET B |
Qd = 0.278 x 0.7 x 125 x 0.0223 = 0.542 m®/sec

H Manning S0 2|8t ST &F8

Qi= 08x AV =108 X —}Q— X A x R™ x S¥  (m¥]sec)

= 0.8 X GoE X 0.2858 X 0.1985%3 x 0.011Y% = 0.544 m®/sec

~ 2BFAb S = 1.10% = 0.011

-~ Qd = 0.542 m’sec < Qi = 0.544 m%sec O|2 2 +Z2FAl §=1.1%0|&2=E
2T+ X2 Il

of. STA. 8+195 P2t VE=ET(B21-3—-1, H=0.8m)
B HEHEY L8
Qd = 0.2718 x 0.7 x 125 x 0.1051 = 2.557 m®/sec

M Manning 340 22t 5T L%

Qi= 08X AV=08x L+ xAxR™x s (md/sec)

0.8 X T(l)’l‘s‘ x 0.592 x 0.2728%% x 0.040"2 = 2.656 m®/sec

- SATIDIE 4 = ﬁ_jz:_O_E‘)O x 0.800 = 0.592 m?

-8 B p=2x0.80 % J0.302' + 1.00> + 0.50 = 2.1704 m

- EXA= » = 0.015
FEBAL S = 4.00% = 0.040

. Qd = 2.557 m¥sec < Qi = 2.656 m’/sec O|2=Z VEET(B2-3-1, H=0.8m)

ax =y




